EARAROBREBRT —5 XN—ZXBISH—F

20224F5826H () SEREE2H

N C 1248 SRR B
[xE%] 1%&:350,000H  2&:116,000M  3#&:70,000H  43%&:46,000H  53&:32,000H
B RS RS R 1 B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
S e = SHEX : -2-2- - ROXK (BEE)
11718 HITIRSR 4 576.0E 1.(3_7).3 2-2-2-1 | 39.5 3 ?377) HDE%
RIIET7RAT7 B:=Zaxvb /=Y ITr—1L
Sy A0 s 4 | AULE— 1:38.1 7-7-5-5 |39.7| - 5 | 490 |FEEE (BEB)
EH 7 INYN 54.0 (4) ¢ | FHRH
RUFVF4—R §:9—IILAY TIVISTF— L
<, = waw KRZHIZE : -4-4- - RESX (BaRE
3lgl1| YT 4EYa7) 5 2G5 1(93?:; A 02 ) (4_924) e ( )
RiFRXF B:IJAYvIJIARVR INTT7—LI
= HEFREE : -1-1- - REEX (BEE)
40 4| RILT 4 IT—L 58T 1'(328)'5 [ : (4_815) e
R:7—RARNU— B:YvROT7A) RIS
~ [EI BB : -3-3- - BErlE—A (BEE)
sBY 3| UU—TVFLR it 4 s 1.(339).1 3-3-3-4 | 41.2 1 (4_319) A
R:/ITTUZN B:YIWITUXL RFHHBUZ
= 4 | =ETHE 1:40.0 9-10-10-9 | 40.2| — 6 | 468 |SEBZ (BEE)
6171 9| 97835 4 S @ (i | AHEKES
RNV vH—)L B:UYR TR
o NOEERIAE 140. -6-7- . - HREEX (BEE)
791 2 NARIAEST—/ "6 56.0 ! 1(94?:? o761 413 8 (5+184) SRR
RiIAYVITSwya BRARIAVT EvIUy RI7—LA
~) 5~ 6 | BRE— 1:40.2 4-5-6-7 |41.7| — 7 407 | BOXRK (BEE)
sl 6| AUNVIY 54.0 (3/4) 4y |MEBETE
R:YISTUIFVN B:F—LTVINAS XA TIWT7—L
p= T B4 | A4 L3 1:40.5 11-9-8-8 | 41.3| — 9 | 43 |EER (&ER)
9|5|5|73YT A 56.0 (1 1/2) () |EEEH
RIN—EVYIv— B:F7I—UIITT7AR mx g
S i~ » BALEE 41, -8-9- . - EHSH (RER)
10lsliol 759vFA2 4% 5 e 1(461)7 6-8-9-10 | 42.3 10 (5_228) s
RFALNSRYIR B:Zy /Fa7 )R wE EA
\ W —_ry 4 5 | NEBEZ 1:41.8 10-11-11-11| 41.5 | — " 452 | HdE— (BEE)
111 |\ AFLY FE=T 54.0 o) o | BFY
R:O=IRAAUAXA B:Lvy RFE—F ORISR
@ 1—F—&RIEL
13—7— 4,8,3,6,11,10,7,2,9,1,5
20—F— 4,8,3,11,6,2,7,10,5,9,1
30—7— 4,8,3,11,7,6,2,5,10,9,1
47— — 8,11,4,3,7,2,6,5,9,10,1
0 ILRE
BB 8 400M4 JA R 7-8 560/ e B 6-7 940M4 3EE 7-8-11 2,260M
B B 8 1509 8-11 380 5 E 7-8 1,700 3EH 8-7-11 14,840/
7 250 7-11 780 B8 8-7 3,090
1 210

ABIC OV TRUTEREERRODDZE. THRIIZEL.




